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2. (84)% AABC# , %8 : cosA + cosB + cosC > 1

[ isy

HipE © MEUEEZREE ¢ —EH
NIt 7S




= e 108 ERAE R R —ER A T H AN H R RS — KBRS

Ik . —F 4 : W

By

S TR ) (BRS04 -



sy RS EE 4 5y 0 84
ot (A
— Bz, EeaIE=

71 RIFEECESE 2 (HEEHPL EA5 091 - $E 12

éj\

)

iR 3. iR 4.

S HDSY ¢ HURRE(RE 6 57 > 34 66 47)

5 14 6. 7. i 8.
1% 9. 1% 10. i 11 1% 12.
14 13 15 14. 14 15.

FEUUE Sy - ST EESHHEEE 14 47)

AR EE N REETEERE TR @Fﬁﬁééﬂ EoEFEAI1097 -

2
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cosC >1
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(6%) % sindsinB = cos =, W= ARMTMR(RRERESB12)
2
% : sindsinB = cos g = HCZ—OSC ,
FTEA 2sinAsinB = 1 — cos(4 + B) = 1 — cosAcosB + sinAsinB
= sinAsinB + cosAcosB =1
=>cos(A—-B)=1

> A =B, Bt AABC ASE=AK

. (84)%E AABC # , &% : cosA + cosB + cosC > 1
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a = bcosC + ccosB , b = acosC + ccosA , MM INE

a+ b = (a+ b)cosC + c(cosA + cosB)
= (a+ b)(1 — cosC) = c(cosA + cosB)

cosA+cosB a

—>1(va+b>c), Bt cosA+ cosB+ cosC > 1
1—cosC c



